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Q1. If@uth-East becomes Nortlﬂ North-East becomes West and so on.

What will West become? T Z‘{f«?l'UT-q‘ﬁ' 3¢ @ Srar g, al 3?-R'-tlj'
qfdgd & Jrar § 3R gl gl aRaw F=4r g

N W
A) North-East 5
B) North-West = Nw
C) South-East =" %
D) South-West Sw ; Lo







Q2. Shirm travels 777 km. toward North, then he turns to his right and
walks 333 km. He again turns to his right and moves 777 km forward.
Now in which direction is he from his starting point? /5 777 Tor#l

FY IET FIAT g1 3T A 3, T 98 9=l qrfgelr T Aqzar 3
3ilr 333 fFa Taar ¥ 9 T @ =N RSN 3T #=aT & 3k
777 ol 3T agar ¥ 39 TF I IRE Rig ¥ Brw R

H e /rf_if_; '\[ . (1) North
< 47@ (2) South
123 |9 F
Wg}\% Ej’ €4t) 5 (4) West
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Q3.AMAN walked 20 m towards north. Then he turned right and walks
30 m. Then he turns right and walks 35 m. Then he turns left and walks
15 m. Finally he turns left and walks 15 m. In which direction and how
many metres is he from the starting position? 37H« 39T &7 31T 20
HeT =eltl 5T 98 q A3ar 7 30 30 A =Tear 71 AT 7 g Az
g 3 35 & Tear ﬁwagaﬁm%aﬁtwmm%l 3iq
#agwm%aﬁthﬂum%l gg IRfAe Fufa @ e
R 3 3 e AT # g R E?

[ A)15 m West
W\ @ B) 30 m East
C) 30 m West

D) 45 m East



Q3.AMAN walked 20 m towards north. Then he turned right and walks
30 m. Then he turns right and walks 35 m. Then he turns left and walks
15 m. Finally he turns left and walks 15 m. In which direction and how
many metres is he from the starting position?

N (8w
A)15 m West /}\
B) 30 m East 20m ] Ol .
C) 30 m West @ S8 ickioss @“
S+ £ l

D) 45 m East
et
20 t1s7 38 @







Q4. . Mr. Khan moves towards South-East a distance of 7 km, then
she moves towards West and travels a distance of 14 km. From
here she moves towards North-West a distance of 7 km and finally
she moves a distance of 4 km towards east. How far is she now

from the starting point? ¥ @re gf&or-gd & 31X 7 f&HT Tordt &,
5t 98 aRTA A AR gt T IR 14 FA g aa A 81 T g
3e-9fRe Y AR 7 R Terchl § 3R 37T H 98 g9 A1 AW 4 TFa) Torch
81 9% 319 AT fig ¥ frasit g 82

(1) 3KM
(2) 4 KM
(3) 11 KM
(4) 10 KM



Q4. . Mr. Khan moves towards South-East a distance of@km, then

she moves towards West and travels a distance of m. From
here she moves towards North-West a distance of_7Xm and finally

she moves a distance @m towards east. How far is she now

from the starting point? _ o e NY N Ne
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Q4. . The length and breadth of aroom are 8 mand 6 m
respectively. A cat runs along all the four walls and finally along a
diagonal order to catch a rat. How much total distance is covered

by the cat? Te FHAY Y dd1S 3T TS FHaAw: 8 Her 31X 6 AT 8l v
faeell Tt TR Sart & 1y gerd! § 3R 379 # v 98 I THhsa F [Av e
Rt o & Fry Tereh 1 Rreeh garT o frdel gt a7 i STl §7

A) 10 (¥ s G m,

B) 14 @ O 4 =, 1€ 4846

i e e
4 i 6t TG 1

b
kk)% d

c
)
\\’,‘NB




Q5. A man walks 2 km towards North. Then he turns to East and walks
10 km. After this he turns to North and walks 3 km. Again he turns
towards East and walks 2 km. How far is he from the starting point?
U& gfFd 3a¥ 1 3R 2 fFA gaar §1 T ag qa@ $ir 3%
wgar ¥ 3R 10 Rt werar §1 3U% 915 98 3 T IR qAT
€ 3k 3 et Terar §1 AT @ 98 9 A 3 Azt § aR2
foret ToraT 81 9% IR@* g 4 ﬁ»—d?ﬁ T 87

M M’-S'“l = (3
: o . 5 wo = J1eg = 13kn
N Ll eee— - —IC (1) 10 km /

' 2 U2) 13 km
(3) 15 km

(4) @ None of these
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Q6. Lucky walks 7 km. in the east then he turns to his right and moves
20 km then he turns to his left and moves 5 km then again he turns to
his left and moves 11 km. Now in which direction is he from his
starting point and how far ? bl 7 &l Trerar %I ‘ﬁ' q Y de
9=l grft 3R Hsar1 § AR 20 fFaAT wreran @, fhY ag YA TS
mm%aﬁtsﬁm"rm% fﬁwagm?ﬁaﬁsmm%
3R 11 Ry Toar ¥ mﬁmmﬁg#ﬁmﬁ%
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Q6. Lucky walks 7 km. in the east then he turns to his right and moves
20 km then he turns to his left and moves 5 km then again he turns to
his left and moves 11 km. Now in which direction is he from his
starting point and how far ? P (Ro)t 9541t

(xgse% X\ ARl
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T S (1) North
(2) South
(3) East

(4) West



Q7. Babu is the neighbour of Rahim and his house is 200 m north-
west. Joseph is the neighbour of Rahim and his house is 200 m south-
west. Gopal is the neighbour of Joseph and he lives 200 m south-east.
Roy is the neighbour of Gopal and his house is 200 m north-east.
House of Roy is in which direction with respect to the house of Babu?

919 @ FT ISl § 3 3w 87 200 Hex sa-aRew 7 31 INw
W F1 92 § 3% 3uHT =¥ 200 Hex sRU-aRTE F & a9,
% H ISR § 3 98 200 Hex gfAor-qa # tgar 8137 Mure
mqﬁ;ﬁ%aﬁtmmzooxﬁamqﬁﬁ%lm#w#aﬁa&

A T &1 2 vy feem & 872
@ (1) South-East

osoen (2) South-West
(3) North
(4) North-east


















